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9. SOLIDS OF REVOLUTION, INTEGRATION BY
PARTS (23/1/2017)

Goals.

(1) Solids of revolution
(2) Integration by parts
(3) Working with a toolkit.

Last Time: Volume of the ball: g"“”")a(‘" f%*mm'j

1) Picture ﬁé%.
Slice '—"i
Axes + geometry = volume element o

2)

3) - E:\'O\m %1?'(6
4) Write integral -

5) Evaluate integral

Problem: The arabetween the x-axis, the curve y =
z* and the line z = 5 is rotated about the z-axis.

What is the volume of the resulting region?
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Math 101 — WORKSHEET 9
SOLIDS OF REVOLUTION, INTEGRATION BY PARTS

(1) Solids of revolution
(a) (Final 2014, variant) Find the volume of the solid
generated by rotating the finite region bounded by
y = L and 3z + 3y = 10 about the line y = —é
(’8) It will be useful to sketch the region first.
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(b) The area between the y-axis, the curve y = 2

and the line y = 4 is rotated about the y-axis.
What is the volume of the resulting region?
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(2) Integrate by partsx " s ¥
(a)fxexd:c = Y&, —§4, 01)( =Y¢ -2 +(C
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Y = xf}<dv=€><obf

dwu- olx , V= Qx
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(b) (Final, 2014) [ zlogz dx



